L Bl o

Nwms:

[

YeThIpe 3HAKa MOCJIe 3aIsATON, MOPSAIOK OTepaluii co
CKOOKaMu

Jara: Orenka:

24+ 6+6)x 6,6= 3,4-5,2(6,3-4,2)=

8(2,3+4,2)+2= 30(2,9+2,9)+ 6=

5,5-3,7(3,2 —4,9) = (8+2+2,8)x6,6=

5,5-4,6(3,6—2,6)= 2,2+4,42-2,3)=

16(3,4+3,3)+ 4= (4,1+3,4)x4,3+2,8=
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YeThIpe 3HAKa MOCJIe 3aIsATON, MOPSAIOK OTepaluii co
CKOOKaMu

Nwms: Jara: Orenka:

(24+-6+6)x 6,6= 0606

3,4-5,2(6,3—4,2)=—7.52

8(2,3+4,2)+2=126

30(2,9 +2,9)+ 6 =29

5,5-3,73,2 —4,9)= 11.79

(8+2+2,8) x 6,6 = 44.88

5,5-4,6(3,6—-2,6)=09

2,2+4,42—2,3)= 0.88

163,4+3,3)+4=26.8

(4,1 +3,4)x4,3+2,8=235.05
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